
Maths Assignment 

Class-2                

Chapter: Division              

Q1. Find the quotient. 

1. 88 ÷ 8= 11                         2. 505 ÷ 5= 101 

 

 (a) 63 ÷ 3 = ______              (b) 88 ÷ 4 =  ______                                           

 

(c) 484 ÷ 4 = _____               (d) 862 ÷ 2 = ______ 



 

Q2. Find the quotient and the remainder. 

      1. 38 ÷ 9 =                      2. 253 ÷ 7 =        

 

 

  (a) 65 ÷ 2 = ______            (b)95 ÷ 3 =  ______    

   

(c)638 ÷ 5 = ______            (d) 327 ÷ 6 = ______ 



 

         

 

 

 

 

 


